Efficiency vs Dxy(PV)

< 0.5

S o
S

efficiency vs dxy(PV,

o ¢
O N © w

-15 -10 -5 5 10 15 20

0
TP dxy(PV) (cm)
—a— D -{est_T000evT

—— DQM_CKFREFit-test_1000evt
—— DQM_mkFitREFit-test_1000evt

[ Efficien

—— DQM_NANTESTCKF_1000evt
—— DOM_NANTEST_1000evt

1.2

=

B

o
©

efficiency vs dxy(PV,

©
fe)

°
N

0.

Efficiency vs Dz(PV)

0.2 04 06 08
TP dxy(PV) (cm)

0.8

efficiency vs dz(PV)
o o o o o
[ S R -

o
)

Ratio

Efficiency vs Dz(PV)

— 0.5

20

10
TP dz(PV) (cm)

30

>

©
S N

o
© w
w O

efficiency vs dz(P

o
© N
N

0.15)

o
o o
(51N

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


